# Performance Evaluation Of Standalone PV Solar Power System Computer And Internet Service Centre

Lehiowo Obojor-Ogar<sup>1</sup>

Department of Electrical/Electronic Enig8ineering University of Calabar, Cross River State , Nigeria lehiobojor@unical.edu.ng

#### Tim, Peter Oritsetimeyin<sup>2</sup>

Department of Computer Engineering, Faculty of Engineering and Technology, University of Calabar, Calabar, Cross River State, Nigeria. timopet4real@gmail.com, petertim@unical.edu.ng

> Akpan, Akaninyene Ndarake<sup>3</sup> Department of Electrical/Electronic Enig8ineering Cross River State University of Technology (CRUTECH) candyguy23@gmail.com

Abstract- In this paper, the performance evaluation of standalone PV solar power system computer and internet service centre is presented. The center has load demand of 324740kWh per day and the installation site is located in Idu Akwa Ibom State with 5.027595 as its latitude and 8.016309 as its longitude. The PVSyst software was used for the simulation. The PVSyst simulation result show that the annual energy yeild from the system is 155085 kWh/year,the used energy delivered to the load is 118546 kWh/year and the unused energy is 33886 kWh/year. Also the system performance ratio is 58.83 %. Also, the results showed that the energy demand could not be satisfied with the use of solar power alone in the months of July, August and September. The worst case energy deficit occurred in the month of July with about 813.8 kWh energy required from the back-up generator. In that July also, the generator is required to run for 70 hours which is about days. The loss diagram show that the two major losses are due to unused energy (20.79%) and loss due to cell temperature (11.09%). In all, due to the cumulative loses the system performance is 58.83 %. This means that about 41.17 % of the energy produced is lost.

Keywords— Solar Fraction, Performance Evaluation, PVSyst, Standalone PV, Solar Power System

#### **1. INTRODUCTION**

Today, computer and Internet have revolutionised our society. Numerous changes have occurred in the way we live and relate [1,,3,4]. As such, any one without some basic knowledge of computer and internet in this present day finds it difficult to take advantage of the numerous benefits these technologies can afford [5,6,7,8,9]

In any case, there are still locations in the remote part of some developing countries where the computer and internet penetration is still low [10,11,1,13]. One of the major challenges in some of these remote locations is lack of access to electricity and wireless network service from the major service providers [14,15,16]. As such, in such locations, computer centres and internet service based on VSAT technology are used to provide computer and internet services to the inhabitants. Accordingly, the issue of power can be addressed by using standalone sola power system [17,18,19]. As such, in this paper, the performance evaluation of a standalone solar power system for a computer and internet service centre in a remote location in Akwa Ibom State is presented. The evaluation is done using the PVSyst software.

#### 2. METHODOLOGY

The work considered the solar power for a computer and internet service centre located in Idu Akwa Ibom State with 5.027595 as its latitude and 8.016309 as its longitude. The center has load demand profile, as shown in Table 1, with about 324740kWh per day. The meteorological data for the installation site at Idu Akwa Ibom State is shown in Table 1.

The optimal tilt angle selection for the PV module was done using the PVSyst tilt angle dialogue box shown in Figure 1. The tilt angle is relative to the site latitude and the optimal tilt angle for the site, as shown in Figure 1 is 14°. The schematic diagram of the standalone PV power system with back up is shown in Figure 2. PVSyst software was used to simulate the system with 3 days of power autonomy. The results as captured from the PVSyst simulation outputs are shown in Figure 3 to Figure 8.

The PVSyst software is used to examine some key features of the selected PV module. Notably, the graph of PV cell efficiency versus solar radiation for different temperatures is shown in Figure 3 while the graph of PV cell efficiency versus temperatures is shown in Figure 4. The commercially quoted PV cell efficiency for the selected module is 10.64% at temperature of  $25^{\circ}$ . However, the graphs in Figure 3 and Figure 4 show that the efficiency decreases below the quoted efficiency value as the cell temperature increases above  $25^{\circ}$ . On the other hand, the efficiency increases above the quoted efficiency value as the cell temperature decreases below  $25^{\circ}$ .

The PVSyst software is used to examine some key features of the selected storage battery. Notably, the graph of The graph of battery voltage versus charging time in hours is shown in Figure 5. The graph shows that at 24 A it will take about 4.9 hours to fully charge the battery, at 6 A it will take about 20 hours to fully charge the battery and at 1.2 A it will take about 104 hours to fully charge the battery.

ICT Center Description	Quantity	Rated Power (W)	Total Power Rated (W)	Hours/day	Wh/day
Lighting	40	35	1400	10	14000
Security light	20	80	1600	12	19200
Fan	18	60	1080	10	10800
Laptops	120	65	7800	10	78000
Network Servers	3	210	630	24	15120
Air conditioner for server	3	1100	3300	24	79200
Air conditioner	8	1100	8800	10	88000
Printer	1	50	50	10	500
Routers	1	35	35	24	840
Switches	1	30	30	24	720
VSAT Modem	1	15	15	24	360
Other items	15	120	1800	10	18000
TOTAL			26540		324740

Table 1: Load demand profile of the case study remote computer and internet service centre

Table 2 Meteorological	data for	Idu in	Alawa	Ihom Stat	a Nigaria
able 2 Micholological	uata 101	Iuu III	пкма	100m Stat	e migeria

Interval beginning	GlobHor	T_Amb	
	kWh/m².mth	°C	
January	173.9	24.7	
February	158.5	25.1	
March	165.9	24.8	
April	152.7	24.9	
May	148.2	24.8	
June	130.8	23.9	
July	120.6	23.1	
August	114.4	23.0	
September	120.3	23.2	
October	133.9	23.6	
November	145.2	23.8	
December	165.2	24.0	
Year	1729.6	24.1	



Figure 1 The optimal tilt angle selection for the PV module



Figure 2 The schematic diagram of the standalone PV power system with back up







PV module: Global Solar Energy, FG-1BTM-300



Figure 4 The graph of PV cell efficiency versus temperatures



Figure 5 The graph of battery voltage versus charging time in hours

#### **3. RESULTS AND DISCUSSIONS**

The PVSyst simulation result showing the simulation parameters and the system components settings is shown in Figure 6. It shows the selected PV module, the battery , the charger controller and the back-up generator. The PVSyst simulation result showing the simulation parameters and the energy yield f the system is shown in Figure 7. It shows that the annual energy yeild from the system is 155085 kWh/year,the used energy delivered to the load is 118546 kWh/year and the unused energy is 33886 kWh/year. Also the system performance ratio is 58.83 %.

The PVSyst simulation result showing the simulation parameters and the different components of energy yield and energy consumption in the system is shown in Figure 8. It shows also the solar fraction is less than 1 which indicates that the energy demand could not be satisfied with the use of solar power alone in the months of July, August and September. These 3 months have solar fraction less than 1. Accordingly, the results in Figure 9 shows that the back-up generator was used only in the listed 3 months. The worst case energy deficit occurred in the month of July with about 813.8 kWh energy required from the back-up generator. In that July also, the generator is required to run for 70 hours which is about days.

Finally, the PVSyst simulation result showing the losses in the system is presented in Figure 10. The loss diagram show that the two major losses are due to unused energy (20.79%) and loss due to temperature (11.09%). In all due to the cumulative loses the system performance is 58.83 %. This means that about 41.17 % of the energy is lost.

PVSYST V6.87			25/07/23 Page 1/6
	Stand alone system:	Simulation parameters	
Project :	IDU COMPUTER AND INT	ERNET CENTER	
Geographical Site	IDU AKWA IBOM STATE	Count	ry Nigeria
Situation Time defined as	Latitude Legal Time Albedo IDU AKWA IBOM STATE	5.03° N Longitu Time zone UT Altitu 0.20 NASA-SSE satellite data 1983-2	de 8.02° E de 56 m 005 - Synthetic
Simulation variant :	New simulation variant Simulation date	25/07/23 13h57	
PV Array Characteristics PV module Original PVsyst database Number of PV modules Total number of PV modules Array global power Array operating characteristi Total area System Parameter Battery Battery Pack Characteristics	CIS Model Manufacturer In series Nb. modules Nominal (STC) U mpp Module area System type Model Manufacturer Nb. of units Voltage Discharging min. SOC	FG-18TM-300 Global Solar Energy 7 modules In paral 378 Unit Nom. Pow 113 kWp At operating con 335 V I m 1072 m <sup>2</sup> Cell an Stand alone system with bac KBM216_2P13S 120Ah Kokam 5 in series x 40 in parallel 241 V Nominal Capac 10.0 % Stored energy	lel 54 strings er 300 Wp id. 102 kWp (50°C) pp 304 A ea 857 m <sup>2</sup> k-up generator ity 4900 Ah gy 1028.8 kWh
Controller	Model	Universal controller with MPPT co	onverter
Converter	Maxi and EURO efficiencies	MPPT converter Temp coe 97.0 / 95.0 %	ff5.0 mV/*C/dem.
Battery Management control	Threshold commands as Charging Discharging Back-Up Genset Command	SOC calculation SOC = 0.96 / 0.80 SOC = 0.10 / 0.35 SOC = 0.15/0.45	
Back-up genset	Model Manufacturer Nominal power	3 kW Back-up generator 3.0 kW	

Figure 6 The PVSyst simulation result showing the simulation parameters and the system components settings

PVSYST V6.87			25/07/23	Page 4/6			
Stand alone system: Main results Project : IDU COMPUTER AND INTERNET CENTER Simulation variant : New simulation variant							
Main system parameters PV Field Orientation PV modules PV Array Battery Battery Battery Pack User's needs	System type tilt Model Nb. of modules Model Nb. of units daily profile	Stand alone with back-up gene14°FG-1BTM-3009789	rator n 0° n 300 Wp 113 kW Lithium- y 241 V / 119 MV	p ion, NMC 4800 Ah /h/year			
Main simulation results System Production Back-Up energy from gene Battery ageing (State of We	Available Energy Used Energy Performance Ratio PR rator ear) Back-Up energy cycles SOW Battery lifetime	155085 kWh/year Specific prod 118546 kWh/yearExcess (unused 58.83 % Solar Fraction Sf 1660 kWh/year Fuel Consumption 92.0% Static SOV 5.0 years	1368 k 33886 k 98.61 % 996/yea 80.0%	Wh/kWp/year ;Wh/year ; r			

Figure 7 The PVSyst simulation result showing the simulation parameters and the energy yield f the system

	GlobHor kWh/m <sup>2</sup>	GlobEff kWh/m <sup>2</sup>	E_Avail kWh	EUnused kWh	E_User kWh	E_Load kWh	SolFrac
January	173.9	190.0	17160	6380	10067	10067	1.000
February	158.5	165.7	14979	5520	9093	9093	1.000
March	165.9	163.4	14803	4322	10067	10067	1.000
April	152.7	141.8	12883	2809	9742	9742	1.000
May	148.2	131.3	11946	1714	10067	10067	1.000
June	130.8	114.0	10468	758	9743	9742	1.000
July	120.6	106.5	9800	617	10079	10067	0.920
August	114.4	105.0	9747	1	10071	10067	0.928
September	120.3	114.9	10489	15	9743	9742	0.988
October	133.9	134.6	12208	1873	10067	10067	1.000
November	145.2	154.4	13973	3736	9742	9742	1.000
December	165.2	182.6	16629	6143	10067	10067	1.000
Year	1729.6	1704.1	155085	33886	118546	118532	0.986
Legends: GlobHor GlobEff E_Avail EUnused	Horizontal Effective Available Unused en	global irradiati Global, corr. for Solar Energy nergy (battery	on IAM and shadir full)	E_User ngs E_Load SolFrac	Energy su Energy no Solar frac	upplied to the u eed of the user tion (EUsed / E	ser (Load) Load)

 EUnused
 Unused energy (battery full)

 Figure 8 The PVSyst simulation result showing the different components of energy yield and energy consumption in the system

	BkUp_01	FuelBU	E_BkUp
	Hour	liter	kWh
January	0	0	0.0
February	0	0	0.0
March	0	0	0.0
April	0	0	0.0
May	0	0	0.0
June	0	0	0.0
July	270	488	813.8
August	239	435	725.2
September	9	17	29.0
October	0	0	0.0
November	0	0	0.0
December	0	0	0.0
Year	518	941	1567.9

### Legend:

## BKUp\_ON- Back-up generator running duration FuelUp - Fuel consumption of Back-up generator

E\_BKUp - Back-up generator Energy

Figure 9 The PVSyst simulation result showing the operation of the back-up generator set



Figure 10 The PVSyst simulation result showing the losses in the system **4 CONCLUSION** 3. Firth, J., Torous, J.,

The analysis of standalone solar power forcomputer and internet center located a remote site in Idu Akwa ibom State is presneted. The study focused on the sizing of thesolar power system components using PVSysts software and also on the everluation of the losses in the system. Also, the system was designed with back-up generator and the operations of the generator in situations of power supply shortage from the solar power was considered. In all, the system only needed the back-up generator in the months of July, August and Septemeber.

#### REFERENCES

- 1. Xu, M., David, J. M., & Kim, S. H. (2018). The fourth industrial revolution: Opportunities and challenges. *International journal of financial research*, 9(2), 90-95.
- Legner, C., Eymann, T., Hess, T., Matt, C., Böhmann, T., Drews, P., ... & Ahlemann, F. (2017). Digitalization: opportunity and challenge for the business and information systems engineering community. *Business & information* systems engineering, 59, 301-308.

- 3. Firth, J., Torous, J., Stubbs, B., Firth, J. A., Steiner, G. Z., Smith, L., ... & Sarris, J. (2019). The "online brain": how the Internet may be changing our cognition. *World Psychiatry*, 18(2), 119-129.
- 4. Oke, A., & Fernandes, F. A. P. (2020). Innovations in teaching and learning: Exploring the perceptions of the education sector on the 4th industrial revolution (4IR). *Journal of Open Innovation: Technology, Market, and Complexity,* 6(2), 31.
- 5. Simamora, R. M. (2020). The Challenges of online learning during the COVID-19 pandemic: An essay analysis of performing arts education students. *Studies in Learning and Teaching*, *1*(2), 86-103.
- 6. Raja, R., & Nagasubramani, P. C. (2018). Impact of modern technology in education. *Journal of Applied and Advanced Research*, 3(1), 33-35.
- Shaikh, F. K., Zeadally, S., & Exposito, E. (2015). Enabling technologies for green internet of things. *IEEE Systems Journal*, 11(2), 983-994.

- 8. Farrah, M., & Al-Bakri, G. (2020). Online learning for EFL students in Palestinian universities during corona pandemic: Advantages, challenges and solutions.
- 9. Tabrizchi, H., & Kuchaki Rafsanjani, M. (2020). A survey on security challenges in cloud computing: issues, threats, and solutions. *The journal of supercomputing*, 76(12), 9493-9532.
- 10. Hillier, M. (2020). Bridging the digital divide with off-line e-learning. In *Expanding Horizons in Open and Distance Learning* (pp. 110-121). Routledge.
- 11. Morgan, H. (2020). Best practices for implementing remote learning during a pandemic. *The clearing house: A journal of educational strategies, issues and ideas*, 93(3), 135-141.
- 12. Haight, M., Quan-Haase, A., & Corbett, B. A. (2016). Revisiting the digital divide in Canada: The impact of demographic factors on access to the internet, level of online activity, and social networking site usage. In *Current Research on Information Technologies and Society* (pp. 113-129). Routledge.
- 13. Adarkwah, M. A. (2021). "I'm not against online teaching, but what about us?": ICT in Ghana post Covid-19. *Education* and information technologies, 26(2), 1665-1685.

- 14. Adediran, Y. A., Opadiji, J. F., Faruk, N., & Olayiwola, W. B. (2016). On issues and challenges of rural telecommunications access in Nigeria.
- Houngbonon, G. V., Le Quentrec, E., & Rubrichi, S. (2021). Access to electricity and digital inclusion: evidence from mobile call detail records. *Humanities and Social Sciences Communications*, 8(1), 1-11.
- Dike, D. O., Obiora, U. A., Nwokorie, E. C., & Dike, B. C. (2015). Minimizing household electricity theft in Nigeria using GSM based prepaid meter. *American Journal of Engineering Research (AJER) e-ISSN*, 23200847, 2320-0936.
- 17. Jumare, I. A. (2019). Design of Standalone Photovoltaics (PV)/Biogas Hybrid Power System with Hydrogen Storage: Case of Northern Nigeria.
- 18. Li, C., Zheng, Y., Li, Z., Zhang, L., Zhang, L., Shan, Y., & Tang, Q. (2021). Techno-economic and environmental evaluation of grid-connected and off-grid hybrid intermittent power generation systems: A case study of a mild humid subtropical climate zone in China. *Energy*, 230, 120728.
- 19. Zarei, M. (2017). Portable biosensing devices for point-of-care diagnostics: Recent developments and applications. *TrAC Trends in Analytical Chemistry*, 91, 26-41.